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SET-4
Series SSO wIEH, 57(B)
Code No.
et . vl el IR % qE@-gs
Roll No. T 3w forg |

Candidates must write the Code on the
title page of the answer-book.

o FHUA G F A foh 50 TA-97 H Higd Y8 11 2 |

o THUA H M TN H IR fU MU Sig TR Hl BH IT-YEIR F E@-I8 W
fad |

o YA SATE B A % 3W AT F 26 T F |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T HuTeh a9 ford |

e T YH-UA HI UG h fo1C 15 fire 1 Tm fean mn g | w9 o TR gty
T 10.15 S fohaT IT@W | 10.15 91 § 10.30 1 b B hadd IH-UF I TeTl
3TN 39 AT & GRF o IT-YIEdh! W g I &1 fora |

o Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

SICACHIERECEAIE )
(et ot e % foro)

BIOLOGY (Theory)
(FOR BLIND CANDIDATES ONLY)
feiia a7 : 3 g92 S7fepaT 37 : 70
Time allowed : 3 hours Maximum Marks : 70
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AT 4597 :
(i) ¥o7-97 4 gia @usl 4 26 97 137 10 & | @41 o7 3 & |
(i) @ & 4 Jo7 &1 1 T 5 37d TR J97 &, TP T7 Uk 37 Hl
&/
(iii) @UE @ d 397 TG&I1 6 & 10 TR J97 1 PR & &, J9% 97 3t 371
HE |

(iv) @UE 7T H ¥o7 &7 11 G 22 TR J97 11 TR & &, T35 J97 i
37H H 8 |

(v) GUE T T J97 G&IT 23 - ITGIRT 97 AR 37 F & |

(vi) TS & H Y97 &I 24 T 26 T I I97 5, IedP J97 qiel 37H HT
&1

(vii) F99-97 4 $I3 77 R Gy 787 8, ¢ o 3t 37961 & v Fo, dq
3l @ UF FvT 3N qier 37H & i 3ol sl Wil lawey 15T 70 E
% TSI #l UF 71 @ Gl lahedl § @ Tb J97 &7 AT & |

General Instructions :
(i) There are a total of 26 questions and five sections in the

question paper. All questions are compulsory.

(it) Section A contains questions number 1 to 5, Very Short Answer

Type Questions of one mark each.
(iti) Section B contains questions number 6 to 10, Short Answer

Type I Questions of two marks each.
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(iv) Section C contains questions number 11 to 22, Short Answer

Type II Questions of three marks each.

(v)  Section D contains question number 23, Value Based Question

of four marks.

(vi) Section E contains questions number 24 to 26, Long Answer

Type questions of five marks each.

(vit) There is no overall choice in the question paper, however, an
internal choice is provided in one question of two marks, one
question of three marks and all three questions of five marks.
An examinee is to attempt any one of the questions out of the

two given in the question paper with the same question number.

©us <h
SECTION A

1. T udi (D) o @l % 0 gl o "9k § 2d ge Wl wikies
yagq FAi & grar ? 1
Why do internodal segments of sugarcane fail to propagate
vegetatively even when in contact with damp soil ?

2. Gl H 9N I 9t IS & Ao AYNTE] foehr sarsy | 1

Mention any two Mendelian recessive disorders in humans.

3. DNA Yfdehdie i Ag-TRef i hal SIal g ? 1
Why is DNA replication termed as semi-conservative ?
57(B) 3 P.T.O.
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4. UFE T UU IH 96 G99 A SHE, 30 wdl-gem, fhu ard

< HIUT Bldt 8 ? 1

Name the virus which causes one of the most common human
ailments — the common cold.

5. QT 9@l § ‘Ori’ 1 e 1 Ieai@ i | 1

Mention the role of ‘Ori’ in a cloning vector.

wis @
SECTION B

6. CuT fr" YR T THOYS % ®Y U hrf HdT 3 ? 2

AT

hdehi b WIS (FHalt) § F=ft =Afeeai § ufafea 84 & 9gat g
At 1 3g@ HIfST | 3 giteds 1 8 8 ? 2
How does CuT act as a contraceptive ?

OR

Mention the changes the zygote of fungi undergo before they
develop into new individuals. Why do these changes take
place ?

2

7. HHd 6l @G % TT o GRIG-UeH 1 IgE@ HINT | T8 IUIA-de

Hrecig aemTfd-ed @ fore gepr fire g1 2 2 2

Mention the pattern of inheritance of human skin colour. How
does it deviate from that of Mendelian pattern of inheritance ?

57(B) 4
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8. HA ¥ U B JTel UGN H ghg i oh T TREM wHA % 9l
AL I A A BT TIH Hid & | TH Fohegl I qeon i FEfeg
IS | 2

List any four characters that the plant breeders have tried to

incorporate into crop plants so as to increase the crop yield.

9. 3| JAguEfshy 9] 1 90 FaEe A v gfar-Fad s it 3ush
Teh HId-Sid o €9 H TIH TohaT 1T 8 | 2

Name the  Dbioactive molecule that i1s wused as

immuno-suppressive agent and its source organism.

10. TSI 3R T & o 90 W dTel TE-e 1 19 Fargy qeil 35eh!

ST hIFT | 2

Name and explain the association that exists between

cattle-egret and the cattle.

wus M

SECTION C

(@SN

11. 3TV, SHed O ford TR f49 8 2 I3 &1 Teh-Ush 380
é'i\aQ | 3

How is parthenogenesis different from parthenocarpy ?
Mention one example of each.

57(B) 5 P.T.O.
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12. WHMHEl § 9 I T M BT & ? 3G g QIdd gAMbl FaATag

I | 3
State the function of placenta in humans. List the hormones
secreted by it.
13. myufeg # fem-fgior St yomeft 6t smen Five | 39 gomeft @t
AT gl AT & ? 3
HAAAT
T IQTELYT oh! TERAT § TEIHTIIAT hl RSN HINT | 3
Explain the mechanism of sex-determination in honeybees.
What is it called ?
OR

Explain pleiotropy with the help of an example.

14. AN (3TIaTE) 6T UfshaT H 9T o aTal fafag TR % RNA
I IdT3T AT 39k HF W Fd18T | 3

Name the different types of RNA along with their functions,
that take part in the process of translation.

15. U A faer & fifsa foredt safd d u o ffaRea s
%Z‘il'l'—[?flﬁQ:
IR ST, BT MR v, T @ie® aur A1 &9 § gell 48 |
3 AR IR &1 TgaTT 3R SHHT HRUT Id1s | 39 f9R &
Tl 37 T ot ffew | 3

Study the following traits observed in a human suffering from
a genetic disorder :

Short statured, small round head, furrowed tongue and
partially open mouth.

Identify this genetic disorder and mention its cause. Write two
more characteristics of this disorder.

57(B) 6
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16. #o&X H UW WM dlcd W7sHfeTd o Siiad @ sl ol sraeemd
FAEY | I TIRIFAIST 1 SHTHb A0 FAT8Y [FEh HU GeH HANAT
BT | 3

Trace the stages in the life cycle of Plasmodium that takes
place in the mosquito. Write the scientific name of the

protozoan which causes malignant malaria.

17. &R YR 4 39 g9 arefl wafhes iR T gfaen smfshansti i
=T hifve | 39 el o TR o1 A ff FdrsT 3

(i) S Aagy () § Rl A g, 3R
(i) < ferelt el & gfa STk & &9 A 30w Bt 7 |

Explain the primary and secondary immune responses

produced by our body. Name the type of antibody
i) present in the colostrum of mother, and

(i1) that is produced in response to an allergen.

18. W & IWER hHI 9 wm= Ot = fge | foed Tft o1 =

fafert g Sw=mw forg YR fomam Srar 2 2 3

Write the three common approaches for the treatment of

cancer. How are they administered on a patient ?
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19. Yfdered TERIfaats 8 TR ®E w1 B ? ThH  Glaeeed

TSII[FATS 1 A FAE R 3 oFl o [dfse STIHH Hl FaRy
bt a8 Tga™ AT B | 3
How does a restriction endonuclease function ? Name a

restriction endonuclease and write the specific sequence of

bases that it recognizes.

20. T foret g1 rDNA % ST R $HOH 1 SEATA hid 8¢ AYHE
URR 1 IT=R fohT Th 999 31 9ol ? SARedT shifvie | 3

How did Eli Lilly, using rDNA technique, make it possible to

treat diabetic patients with human insulin ? Explain.

21. S aH FiAUH U™ % gl 1 e weh SauEifeh 4 T S5
HEwEqUl R TG i & | THSTRL FATET foh 36 TR oh HUTd oh diY
fpd TR faehfea foht 7T 3T fohd TR 38 &t 94 o fo Ut
feram T | 3

Biotechnology has played an important role in developing boll
worm resistant cotton plants. Explain how such cotton plants

are developed and made resistant to boll worm.

57(B) 8
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22. Yl I FAg IR 5k AGHSA I TH HA oh [0 IAERIT TThidh
Y § YT A STedl TREEAT Sl A0 9d13U qT 3Hehl SI1edT <hifo |
gagy fp a8 dftgen dfvas eaor (AH) & fow fea g=R
IR 2 | 3

Name and explain the naturally occurring phenomenon

responsible for heating of Earth’s surface and its atmosphere.

State how this phenomenon is responsible for global warming.

wus Y
SECTION D

23, TIAERO § TS 3cdd i o Tofw Afadehl AFa fShamehetd T Tq@
HROT 3 | 39k ISIH o Thad-HHg g TR ST TIE §=1a
HRIHH H Thdl o Sohl-FTd b Teh GGHT B oh ATd 31T 38 HIIHH
AT A @ 8 | 39 ThN o HRHHI bl JRTId Hid hl i MR
JTewehdl & ? Tohegl oiF Tohamehatmal 1 g=ht sHIST fHert o119 gema
2T AT 3H HRIHA H AR i bl ST S0 | ek [ShTehetTy
% foTq R0 FaTsy | 4

Indiscriminate human activities are one of the major reasons
in causing imbalance in the environment. You, as a member of
an eco-club of your school, are participating in “Save your
environment” programme, organized by the cluster-schools in
your neighbourhood. Why is there a dire need to organize such
programmes ? List any three activities that you would suggest
and plan to organize for this programme. Give reasons for each

one of the activities.
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Qe g
SECTION E

24, (a) TWEREY § &9 &1 o1 gHTEG T g, B ff wfu=m =

qEG TR ST 8 | SR0T SdTd §T SAREAT HifY |

(b) URHIEIHE! o TIi gRT AYRA SIH aTefl I0NHA (outbreeding)

i Tohegl o IR <hl SATET HIfTT | 5
HAAAT
qHat § IGRTUSH sl fshaT hi SATET it | 5

(a) Self-pollination ensures seed formation yet cross
pollination is preferred. Explain giving reasons.

(b) Explain any three outbreeding devices adopted by flowers
In angiosperms.

OR

Explain the process of spermatogenesis in humans.

25. fgpedll DNA I@@® (strand) 1 yg@ Tafmedrsti & =amen
hITTT | 5

HAYAT

Heed o J&UT TgHeht hid o INUMH T it 37 FHSTR Fa1sy foh
HSd 7 39 TR % 18 § Ta UG b I i hd yrd R | 5
Explain the salient features of double-helix DNA strand.

OR
Work out a typical Mendelian dihybrid cross and explain how

Mendel derived the Law of Independent Assortment from such
a cross.
57(B) 10
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26. (a) W& & yTifeyfas fRftg St =men Fifvu |
(b) Tifire wmr=a: @ e # 89 8, dfed wft-mft o
TG ot 91¢ S 2 | R ? T I8 od gL AT HINC | 5

HAYAT

AT AT <hl AfTIT s aTel 3T WA o TR & YaETd W
I IS foaR et o7eHg @H o SR U UGl & | 3 3R 3ok A1
S8 3T NN o YATEl Sl U SHIFTT qAT Fa1sT foh o T 309 fohm

SR ATHT(=id 8T | 5

(a) Explain an ecological pyramid of numbers.

(b) Pyramids are mostly upright, but sometimes exceptions
do occur. Why ? Explain with the help of an example.

OR

You have read about Ahmed Khan, a plastic sack
manufacturer and of his innovative idea of plastic waste
management. Describe his effort and of the people who joined
him and how they were benefitted.

57(B) 11 100
Downloaded From: http://www.cbseportal.com



